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$<�«]� �|sÁT:..................................................... d�eTjáT+ : 2 2
1

 >·+;

sÃýÙ Hî+�sY: .............................. $w�jáT+ : >·DìÔá+

ÔásÁ>·Ü: 6e ÔásÁ>·Ü

$<�«ç|�eÖD+ d�eTd�« kÍ<ó�q ¿±sÁ«¿±sÁD $#�sÁD       e«¿¡ï¿£sÁD d�+<ó�q+ çbÍÜ�<ó�«|�sÁ#á&�+    yîTTÔáï+ �|Õ

�sÁÖ|�D                                  ç¹>&�T

 ç|�Xø� Hî+.         1   2  6  16 25   4   7   8   9   12  5   10 13 14  17   3  18 20  21 24 11 15 19 22  23

ç|�Xø� ç¹>&�T

$<�«ç|�eÖD+

ç¹>&�T

I ¿ì+~ d�eTd�«\T kÍ~ó+#á+&�.

1) ÿ¿£ ~q|�çÜ¿£ 18 �|J\ÔÃ ç|�ÜsÃp eTTç~+#á�&�TÔáT+~. ÿ¿£ sÃEq 16,848 ç|�ÔáT\T

eTTç~+ºq#Ã �sÃEq eTTç~+ºq �|J\T b��?

2) 25 ´ 82 $uó²>·H�«jáT+ �|�jîÖÐ+º \�Ý+ ¿£qT>=q+&�.

3) eTÖ&�T sÁ¿±\ qÖHî\T 32©., 24©. 48©. eÚH��sTT.  eTÖ&�+{ì� KºÌÔá+>± ¿=\e&��¿ì

ned�sÁyîT®q bÍçÔá >·]w�¼ |�]eÖD+ b+Ôá?

4) rd¾yûÔá, >·TD¿±s�\T |�sÁ+>± |�PsÁ� d�+K«\d�$TÜ d¾�Ôá«+ÔásÁ <ó�sÁ�+ bÍ{ìd�Tï+<ûyîÖ ¿=��

�<�V�²sÁD\ÔÃ d�]#áÖ&�+&�.

5) |�Ps��+¿±\ d�$TÜ, |�PsÁ�d�+K«\ d�$TÔáT\ eT<ó�« @yîÕH� 5 Ôû&�\T s�jáT+&�.

II kÍ~ó+#á+&�

6) 504,792 \ �eT�&� ¿±sÁD²+¿±\ýË >·]w�¼ d�+K«qT ¿£qT>=q+&�.

7) 4, 3, 7, 9. n+Â¿\ÔÃ @sÁÎ&û d�+K«\ýË �|<�Ý, ºq� d�+K«\T s�jáT+&�.

8) 1000, 1100 eT<ó�«>·\ d�+K«\ýË 11 #û �Xâôw�+>± uó²Ð+#á�&û d�+K«\T s�jáT+&�.

9) ¿ì+~ e�Ô�ï\ýË ýË|¾+ºq >·ÞøßqT d�ÂsÕq ¿±sÁD²+¿±\ÔÃ �+|�+&�.

10) |�Ps��+¿±\T d�V�²#ásÁ <ó�sÁ�+ bÍ{ìkÍïjáT� bý² #î|�Î>·\eÚ?

3

3
90



11. »»ÿ¿£ �d¼&�jáT+ýË È]Ðq ç|�<�sÁôq¿£T 8627 eT+~ ç�|¿£�Å£�\T V�äÈsÁsTTH�sÁTµµ � y�¿£«+ýË�

d�+K«qT <�>·ZsÁ yû\Å£� d�e]d�Öï Ü]Ð s�jáT+&�.

12. eTÖ&�T _+<�TeÚ\qT ¿£*|¾Ôû çÜuó�TÈ+ @sÁÎ&�� d�+<�sÁÒÛ+ s�jáT+&�.

13. ¹sU²K+&�+ bõ&�eÚ ¿=\e&��¿ì $uó²Ð� b+<�TÅ£� ned��sÁ+ neÚÔáT+~. $e]+#á+&�.

14) ç|�kÍ<�, s�E \T eÖÂsØ{ÙýË � Hî\ yîTT<�{ì Ô�¯KTq ¿£*kÍsÁT.  ç|�kÍ<� eTÖ&�T

sÃE\¿=¿£kÍ], s�E nsTT<�T sÃE\¿=¿£kÍ] eÖÂsØ{ÙÅ£� ekÍïsÁT.  y�sÁT eTsÁ\

@sÃE ¿£\TkÍïsÃ Ôî\|�+&�.

15)

    (a)       (b)    (c)       (d)

�|Õ ¹sK\qT >·eT�+º |�{ì¼¿£ýË �jáÖ¹sK\qT >·eT�+#á+&�.

     ¹sK\T      |�³+

K+&�q ¹sK\T

\+�¹s ¹sK\T

d�eÖ+ÔásÁ ¹sK\T

III ¿ì+~ d�eTd�«\qT kÍ~ó+#á+&�.

16) (-4) + (-6) - (-7) + 5     =  .........................
17) 40,000 + 700 + 20 + 7 =  .........................

18) >·&�jáÖsÁ+ýË eTTÞøß eT<ó�« ¿ÃD+ 90° eÚ+&û d�+<�sÁÒÛ+ ...................

18)      ýË n\Î �d¿±¼sÁTqT �w&� #ûjáT+&�.

20) 1 + 3 = 22 = 4
1+3+5 = 32 = 9
1+3+5+7 = 42 = 16
1+3+5+.........+13 = .........

21) MT |�]d�s�\ýË #áÔáTsÁTÒÛÈ+ �¿±s��¿ì ÿ¿£ �<�V�²sÁD............................

22)                                                          AB = ............ cm
23) ¿ì+~ y�{ìýË n~ó¿£¿ÃD+. ( )

a) 45° b) 90° c) 120°     d) 181°

24) H�\T>·T >Ã&�\T>·\ >·~ýË ÿ¿£ eTÖ\ b+Ôá ¿ÃD+ d�Öºd�Tï+~................

25) ¿ì+~ y�{ìýË ¿£e\ ç|�<ó�H�+¿±\ ÈÔáqT >·T]ï+#á+&�? ( )
a) 3, 7 b) 7, 9    c) 11, 13 d) 21, 29

A B

A B
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RAJIV VIDYA MISSION (SSA), A.P., HYDERABAD
SUMMATIVE TEST - MATHEMATICS

Subject: Mathematics Class: 6 Time : 2 2
1

 hrs.

Name of the student:....................................... R. No. .......................

Acad. Std.
Problem Reasoning

  Communication Connections    Reprentation   
      Overall

Solving & Proof                                                                  grade

    Qn. Nos.      1  2   6  16 25  4  7   8   9  12  5 10 13 14 17  3 18 20 21 24 11 15 19 22 23

    Q. wise
     Grade

Acad. Std.
  wise grades

I Attempt the following.

1) A daily news paper contained 18 pages per copy.  In one day 16,848 copies were
printed. How many pages were printed on that day?

2) Find the product of 25 ́  82 by using distributive law.

3) Find the capacity of the largest vessel to measure the all three different types of
oil correctly having different capacity 32l, 24l, 48 l.

4) Whether the whole numbers satisfy the closure property or not with respect to
subtraction and multiplication.  Give some examples to justify your answer.

5) Distinguish between set of whole numbers and set of integers.

II Attempt the following.

6) Find the HCF of 504,792.

7) Write the greatest and smallest four digit number to formed by 4, 3, 7 and 9. (use
the digit only one for each number formed)

8) Write the number which are exactly divisible by 11 between 1000 and 1100.

9) 90 is to be expressed as a product of prime numbers given below. Write the
missing numbers.

3

   3
         90

10) How can you justify the associate property in whole numbers?



A B

A B

11) The programme held in stadium is witnessed by 8627 spectators. Round off 8627
to the nearest thousand.

12) When do you say that the a triangle  cannot be formed by the given three points?
13) Why is the divider used to measure the length of a line segment?

14) Prasad and Raju met in a market on 1st of this month. Prasad used to go to the
market once for every 3 day and Raju for every 5 days. On what day they would
meet again? How to solve this problem. Write the procedure.

15) Observe the figures and fill the table.

(a)     (b) (c)       (d)

Lines Figure
Interesting lines
Perpenducular lines
Parallel lines

III Answer the following.

16) (-4) + (-6) - (-7) + 5     =  .........................

17) 40,000 + 700 + 20 + 7 =  .........................

18) At what time two hand of a clock make

19)        Shade the regin of minor sector in the circle

20) 1 + 3 = 22 = 4

1+3+5 = 32 = 9
1+3+5+7 = 42 = 16

1+3+5+.........+13 = .........

21) Give an example for Quadri lateral in you surroundings.
22)                                                          AB = ............ cm

23) Which of the following obtuse angle ( )
a) 45° b) 90° c) 120°     d) 181°

24) What is the angle of corner in a four walled room.

25) Which of the following is a co-prime?
a) 3, 7 b) 7, 9    c) 11, 13 d) 21, 29
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eÖ~] ç|�Xæ�|�çÔá+

$<�«]� �|sÁT:..................................................... d�eTjáT+ : 2 2
1

 >·+;

sÃýÙ Hî+�sY: .............................. $w�jáT+ : >·DìÔá+

ÔásÁ>·Ü: 7e ÔásÁ>·Ü

$<�«ç|�eÖD+ d�eTd�« kÍ<ó�q ¿±sÁ«¿±sÁD $#�sÁD       e«¿¡¿£sÁD d�+<ó�q+ çbÍÜ�<ó�«|�sÁ#á&�+    yîTTÔáï+�|Õ

�sÁÖ|�D                                  ç¹>&�T

                ç|�Xø� Hî+.     2   3  6  7   16  1    8   9  10  17  4   12 15 18  25  11 20  19 22 24  5  13 14 21  23

ç|�Xø� ç¹>&�T

$<�«ç|�eÖD+

ç¹>&�T

I ¿ì+~ n�� ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

1) ÿ¿£ <�T¿±D+<�sÁT&�T ÿ¿=Ø¿£Ø �|qT� neT�&�+ e\q sÁÖ. 1/` ý²uó²��, ÿ¿=Ø¿£Ø �|�àýÙ

neT�&�+ e\q 40 �|Õd�\ qcÍ¼�� bõ+<�TÔáTH��&�T.

i) ÿ¿£sÃE sÁÖ. 5/` qw�¼+ bõ+~q|�ÚÎ&�T n$T�q �|qT�\ d�+K« 45 nsTTq n$T�q

�|�àÞø�ß b��?

ii) ÔásÁTy�Ôá sÃE b³Te+{ì ý²uó�+>±�, qw�¼+>±� ýñ<�T.  70 �|qT�\T n$T��+fñ b��

�|�àÞø�ß n$T�H�&�T?

2) ÿ¿£ y�«bÍ] ÿ¿£ �kÍï yîTT<�{ìsÁ¿£+ _jáT«+ neT�¿£+e\¢ sÁÖ. 25/` ý²uó�+, Âs+&�esÁ¿£+

_jáT«+ neT�&�+e\¢ sÁÖ. 15/` qw�¼+ eºÌq~. ÿ¿£ sÃE 80 �kÍï\T yîTT<�{ìsÁ¿£+,

120�kÍï\T Âs+&�esÁ¿£+ n$T�q yîTTÔáï+ MT<� nÔá�¿ì ý²uó�eÖ! qw�¼eÖ! b+Ôá?

3) 2
13

4
16A -= , 13

2
4
13B ´= , 3

28C ¸=  nsTTq A, B, C \qT �sÃV�²Dç¿£eT+ýË s�jáT+&�.

    eTH�* HîÕ�{²ýÙ     }{¡          �VÕ²<�s�u²<�T

4) -20  -15    -10       -5           0  5    10     15       20

i) >·T]ï+ºq q>·s�\ �cþ�ç>·Ôá\T Ôî\Î+&�.

ii) @ q>·sÁ+ jîTT¿£Ø �cþ�ç>·Ôá >·]w�¼+>± �+~

iii) @ q>·sÁ+ jîTT¿£Ø ç�cþ�ç>·Ôá ¿£�w�¼+>± �+~?

5) |�¿£Ø |�³eTT qT+&� kÍ<ó�«yîT®q�� ¿ÃD²\qT

s�jáT+&�. n+<�TýË @$ n\Î, @$ n~ó¿£

¿ÃD²ýË Ôî\T|�ÚeTT.
A

F
E D

C

O B



II ¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

6) 3.28, 4.21 eT]jáTT 4.51 d�+K«\ d�s�d�] b+Ôá?

7) 14 = 27 - x qT kÍ~ó+|�ÚeTT

8) ÿ¿£ d�+K«qT Âs{ì¼+|�Ú #ûd¾ »7µ qT ¿£\T|�>± 49 nsTTq~. nsTTq � d�+K« @~?

9) |�¿£Ø |�³eTTýË, d�Öº+ºq ¿ÃD²\qT

¹sFjáT<�ÇjáT+ nqe#�Ì?

10) Âs+&�T �d�q�¿ÃD²\T d�+|�PsÁ¿±\T neÚÔ�jáÖ? ¿£<�? b+<�TÅ£�?

DE || BC nsTTq

11) x,  y,  z. $\Te\T ¿£qT>=qTeTT.

 D         E

12) HûH=¿£ d�+K«qT, qqT� Âs{ì¼+|�Ú #ûd¾ <��¿ì 36 ¿£*|¾Ôû qÖ{ì¿ì #ûsÁ&��¿ì H�\T>·T ¿±y�*.?

B�� >·DìÔá y�¿£« sÁÖ|�+ýË s�jáT+&�.

13) �¿£Ø&� y $\Te ______

14) 25.406  qT $d�ïsÁD sÁÖ|�+ýË s�jáT+&�.

15) �w&� #ûd¾q uó²>·+ d�>·+ ¿£H�� bÅ£�Øy�? ÔáÅ£�Øy�?

IV ¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

16) 105° \Å£� d�+|�PsÁ¿£ ¿ÃD+  _________

17) 4.5 - 1.2 = ..................... + 2.2

18)         ýË ÐAOB __________ ¿ÃD+

130° 50°

10 cm

y cm 6 cm

x°y°

50°

3 0

A

CB

D E



 A       B       C     D       E
19) E e<�Ý �+&�<�Ðq $\Te R ...................,

-10   - 8     -6    -4   ?

20) |�{²\ýË �w&� #ûjáT�&�q uó²>·+ yîTTÔáï+ __________

IV ÈÔá|�sÁT#áTeTT

21) [ ] A)  5
[ ] B)  3.13

22) [ ] C)  AB || CD
# [ ] D)  AB      CD

23) 0 + 10
1

 + 100
3

= [ ] E)  -1

24) 2 + y = 7,  y $\Te = [ ] F)  1.3

25) (-1) ´ (-1) ´ (-1) ´ (-1) ´ (-1) [ ] G)  0.13

30°

30°

A B

C D

50°

A

C D

30° B



RAJIV VIDYA MISSION (SSA), A.P., HYDERABAD
SUMMATIVE TEST - MATHEMATICS

Subject: Mathematics Class: 7 Time : 2 2
1

 hrs.

Name of the student:....................................... R. No. .......................

Acad. Std.
Problem Reasoning

  Communication Connections    Reprentation   
      Overall

Solving & Proof                                                                  grade

    Qn. Nos.      2  3   6  7   16  1  8   9  10 12  4 12 15 18  25 1120 19 22 4   5  13 14 21 23

    Q. wise
     Grade

Acad. Std.
  wise grades

I Answer the following.

1) A shopkeeper earns a profit of Rs.1 by selling one pen and incurs a loss of 40
paise per pencil while selling pencils.

a) In a particular day she incurs a loss of Rs.5/- In this period she sold 45 pens.
How many pencils did she sell in this period?

b) On the next day she earns neither profit nor loss.  If she sold 70 pens, how
many pencils did she sell?

2) A merchant on selling a bag of rice earns a profit of Rs. 25 per first kind rice and
loss of Rs. 15/- per a bag of second kind rice.  On a particular day if he sells 80
bags of first kind and 120 bags of second kind.  What was his profit or loss?

3) 2
13

4
16A -= ,  13

2
4
13B ´= ,  3

23C ¸=  arrage A, B, C is ascending order..

     Manali Nanital         Ooty          Hyderabad

4) –20   –15    –10       –5           0  5    10     15       20

i)Write the temperature of the cities indicated on number line.

ii) Which city has maximum temperature?

iii) Which city has minimum  temperature?

5) Write all the angles formed in the given
diagram and classify them into acute
and obtuse angle.

A

F
E D

C

O B



II Answer the following questions given below

6) Find the average of 3.28, 4.21 and 4.51

7) Solve 14 = 27 - x

8) If a number is doubled and added ‘7’ the result is 49.  Find the number!

9) Can we call these two angles as linear pair

10) Can a pair of angles that are adjacent be supplementary? Justify with your answer..

DE || BC
11) from the figure what

are the values of x, y, z.
         D    E

12) I am a number, double me and add 36, to reach hundred  I need four, then who
am I ? express in a Mathematical sentence.

13)          then y = _____

14) Expand 25.406

15)          the shaded portion is more than half or not?

III Fill in the blanks.

16) Supplemnetary angle of 105° is _________

17) 4.5 - 1.2 = ..................... + 2.2

18) ÐAOB is __________ angle.

x°y°

50°

3 0

A

CB

10 cm

y cm 6 cm

D E

130° 50°



 A       B       C     D       E
19) Value at E is __________

-10   - 8     -6    -4   ?

20)       +    = __________ (total shaded part express as a fraction)

IV Match the following

21) [ ] A) 5
[ ] B)  3.13

22) [ ] C)  AB || CD

[ ] D)  AP     CD

23) 0 + 10
1

 + 100
3

= [ ] E)  -1

24) If 2 + y = 7,  then y = [ ] F)  1.3

25) (-1) ´ (-1) ´ (-1) ´ (-1) ´ (-1) [ ] G)  0.13

30°

30°

A B

C D

50°

A

C D

30° B
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eÖ~] ç|�Xæ�|�çÔá+

$<�«]� �|sÁT:..................................................... d�eTjáT+ : 2 2
1

 >·+;

sÃýÙ Hî+�sY: .............................. $w�jáT+ : >·DìÔá+

ÔásÁ>·Ü: 8e ÔásÁ>·Ü

$<�«ç|�eÖD+ d�eTd�« kÍ<ó�q ¿±sÁ«¿±sÁD $#�sÁD       e«¿¡ï¿£sÁD       d�+<ó�q+          çbÍÜ�<ó�«    yîTTÔáï+�|Õ

�sÁÖ|�D                  |�sÁ#á&�+     ç¹>&�T

                ç|�Xø� Hî+.     1   2   6  7  22   3    5   8   9    17   12  15 18 19  24 12 13  16 20  23 13 14  21 23

ç|�Xø� ç¹>&�T

$<�«ç|�eÖD+

ç¹>&�T

I � ¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

1) ÿ¿£ bõ\eTT BsÁé#áÔáTsÁçd�¿±sÁ+>± �+~. <�� bõ&�eÚ 2
11  Âs³T¢.  B� yîÕXæ\«+  2.4576

�V²¿±¼sÁT¢, <�� #áT³T¼¿=\Ôá b+Ôá?

2) >Ã|�jáT« ÿ¿£ �+{ì� sÁÖ.70,000 \Å£� ÿ¿£ U²° d��\eTTqT sÁÖ. 16,500 \Å£� ¿=�Ñ �+{ì�

12% ý²uó�eTTqÅ£�, U²° d��\eTTqT  20%  qw�¼eTTqÅ£� n$T�q yîTTÔáïeTT MT<� nÔá�¿ì

ý²uó�eÖ? qw�¼eÖ? b+Ôá XæÔáeTT?

3) b+Ôá ¿±\eTTýË 3
216 % e&�¦ ¹s³T e+ÔáTq nd�\TÅ£� yîTTÔáï+ Âs{ì¼+|�Ú neÚÔáT+~?

4) ÿ¿£ |�ºÌ¿£ yîT®<�q+ q+<�T 28MT. uó�TÈ+ >·\ ÿ¿£ #áÔáTsÁçkÍ¿±sÁ|�Ú #îsÁTeÚ >·\<�T. �

#îsÁTeÚqÅ£� ÿ¿£ eTÖ\q 35 MT. bõ&�eÚ>·\ Ô�&�TÔÃ ÿ¿£ b<�TÝ¿£{ì¼ yûjáT�&�+~. � b<�TÝ

yûTjáT>·\ d��\ yîÕXæ\«+ b+Ôá?

5) eÖ �+{ì qT+&� �|�Ód�T¿ì 3 ¿ì.MT. yû>·eTTÔÃ q&�º yî[ßq#Ã 20 �. �\d�«eT>·TqT. ¿±�

4 ¿ì.MT. yû>·+ÔÃ yî[ßq 15�. eTT+<�T #ûÂs<�qT. eÖ �+{ì qT+&� �|�Ód�T <�ÖsÁyîT+Ôá?

II � ¿ì+~ ç|�Xø�\Å£� d�eÖ<ó�H�\T s�jáT+&�.

6) 3  = 1.732 nsTTÔû 75  $\Te Å£qT>=q+&�..

7) ÿ¿£ e�Ô�ï¿±sÁ d��\ y�«kÍsÁ�+ 77 MT. <�� #áT³T¼ �jáT³ 7 MT. yî&�\TÎq u²³qT yûd¾].

� u²³ yîÕXæ\«+ b+Ôá?



8) 8:5 3
1

 jîTT¿£Ø eT]jáTT 3
11:

5
13  qÅ£� $ýËeT �w�ÎÜï jîTT¿£Ø �V�QÞø �w�ÎÜï  50 : x. nsTTq

x $\Te b+Ôá?

9) dÓÔá, \Ôá\ y�]ü¿£ Å£�³T+� �<�jáÖ\T �w�ÎÜï 4: 3 y�] y�]ü¿£ Å£�³T+� KsÁTÌ\ �w�ÎÜï

3:2 \ÔÃ �H��sTT. y�sÁT d�+eÔáàsÁeTTqÅ£� sÁÖ. 3000 #=|�ÚÎq �\Ç#ûd¾q y�] jîTT¿£Ø

y�]ü¿£ �<�jáTyîT+Ôá?

10)      Âs+&�T eTTÞøß eT<ó�« ¿ÃD+ m+Ôá �+³T+~?

11)  m = {1, 2, 3 .......... 10} nHû $XøÇd�$TÜýË

B = {x / x nqTq~ ÿ¿£ ç|�<ó�q d�+K«} nsTTq B � C²_Ô� sÁÖ|�+ýË s�jáT+&�.

12) (xm+n)m-n ´ (xn+p)n-p  ´ (xp+n)p-n , x XøSHû«ÔásÁ y�d�ïe d�+K«, m, n, p \T|�Ps��+¿±\T nsTTq

d�Ö¿¡�¿£]+#á+&�.

13)
2

12

1313

ú
û

ù
ê
ë

é -
+

-+

n

nx

x
xx

 (x ¹ 0) qT x jîTT¿£Ø |��ÖÔá+>± s�jáT+&�.

14) 125.0  qT �¿£sÁD¡jáT d�+K«sÁÖ|�+ýË s�jáT+&�.

15) A = {1, 3, 4, 5, 6},   B={1, 5, 9, 10}
A , B. d�$TÔáT\ yîH�ºçÔ�\T ̂ º <��ýË ç|�Ü d�$TÜýË>·\ eTÖ\¿±\T #áÖ|�+&�.

III ¿ì+~ ç|�Xø�\ýË ç|�Ü<��¿ì 4 Èy��T\T �eÇ�&�q$. d�]jî®Tq <��� b+#áT¿=� y�{ì¿ì

b<�TsÁT>± �eÇ�&�q çu²Â¿³¢ýË y�{ì� d�Öº+#áT n¿£�s��� s�jáT+&�.

16) If 9604  = 98,  nsTTq 9604.0  = _______ [ ]
a) 9.8 b) 0.98     c) 0.098        d) 0.0098

17) ý²uó�+ 20%, nsTTq ¿=q� K¯<�TqT _______ #û >·TDì�dï n$T�qyî\ ed�Tï+~. [ ]

a) 6
5

b) 5
4

 c) 5
6

       d) 4
5

18) 8 ç|�<ó�H�+¿±\ d�$TÜ p ¿ì #î+<�<�T. B�� >·TsÁTï\qT|�jîÖÐ+º s�jáT>±. [ ]
a) 8 Ï p b) 8 Î p c) 8 Ì  p         d) 8 Ë  p
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19) � |�³eTTýË �w&�#ûd¾q uó²>·+ <û�� d�Öº+#áTqT [ ]

a) A  È B b) A  Ç B c) B - A         d) A - B

20) (a+b, a-b) = (5, 1)  nsTTÔû a ´ b  = ______             [         ]
a) 3 b) 2 c) 6   d) 5

IV ÈÔá|�sÁT#áTeTT.

21)
þ
ý
ü

î
í
ì

5
1,

4
1,

3
1,

2
1,1 [ ] a) 2

22) 30, 45 \ >·.kÍ.¿±. [ ] b) BÌA

   B

23)     
A

         � |�³+ýËA, B\[ ] c) m

        eT<ó�«>·\ d�+�<ó�+

24) $XøÇd�$TÜ� d�Öº+#áT n¿£�sÁ+ [ ] d) O

25) 5 ´ 3 ´ 7 ´ 672 ´ 857 \�Ý+ýË [ ] f) 
þ
ý
ü

î
í
ì

£Î= 5,,1/ yNy
y

xx

ÿ¿£³¢ kÍ�q+ýË�+&û n+Â¿



RAJIV VIDYA MISSION (SSA), A.P., HYDERABAD
SUMMATIVE TEST - MATHEMATICS

Subject: Mathematics        class: 8 Time : 2 2
1

 hrs.

Name of the student:....................................... R. No. .......................

Acad. Std.
Problem Reasoning

  Communication Connections    Reprentation   
      Overall

Solving & Proof                                                                  grade

    Qn. Nos.      1  2   6  7   22  3  5   8  9   17 10 11 18  19 20 12 13 1620 23  4 14 15 21  25

    Q. wise
     Grade

Acad. Std.
  wise grades

I Solve the following.

1) A  field is rectangular in shape and its length is 2
11  times of breadth. If its area is

2.4576 hectares, what is its perimetre?

2) Gopayya bought a house for Rs. 70,000 and a site for Rs. 16,500. He sold the
house at a gain of 12%, and the site at a loss of 20%. Find his gain or loss percent
on the whole?

3) In how many  years certain sum amounts to double to the principle at the

rate of 3
216 % ?

4) A square tank whose side is 28 m. is in a grass field. A bull is tied with a rope of
length 35 m. in a corner of the tank. What is the area of a grass field that the bull
can graze?

5) I walk from my house to my office at a speed of 3 km / hr and arrive at the office
20 min. late, but when I walked at 4 km/hr. I reach the office 15 min. before.  Find
the distance between house and office.

II Answer the following Questions.

6) If 3  = 1.732, find the value of 75 .

7) The radius of circular field is 77 m. A path of width 7m. is laid in side it. Find its
area.



8) The compound ratio of 8:5 3
1

 and the inverse of 3
11:

5
13  is 50 : x. Find x.

9) Annual income of the families of Sita and Latha are in the ratio 4:3 and their
annual expenditures are in the ratio 3:2. What is their annual income if they save
Rs. 3000/- in a year?

10)    Find the angle between the two hands.

11) m = {1, 2, 3 .......... 10}
  B = {x / x is a prime number}

Write B in Roaster form

12) Simplify (xx+1)x-n ´ (xn+6)n-p  ´ (xp+n)p-n, m, n, p,  x Î R

13) Simplify 
2

12

1313

ú
û

ù
ê
ë

é -
+

-+

n

nx

x
xx

(x ¹ 0)

14) Write 125.0  in the form of rational number..

15) A = {1, 3, 4, 5, 6},   B={1, 5, 9, 10}
draw a venndiagram and show the elements of each set.

III Choose the correct answers.

16) If 9604  = 98,  then 9604.0  = _______ [ ]
a) 9.8 b) 0.98     c) 0.098        d) 0.0098

17) If profit is 20%, cost price is multiplied with _____ gives selling price [ ]

a) 6
5

b) 5
4

 c) 5
6

       d) 4
5

18) 8 does not belong to the set of prime numbers P. symbolic form of [ ]
this is
a) 8 Ï p b) 8 Î p c) 8 Ì  p         d) 8 Ë  p

19) The shaded part in the diagram                             represents [ ]

a) A  È B b) A  Ç B c) B - A         d) A - B
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20) If (a+b, a-b) = (5, 1) then a ´ b  = ______ [ ]
a) 3 b) 2 c) 6   d) 5

IV Match the following

21)
þ
ý
ü

î
í
ì

5
1,

4
1,

3
1,

2
1,1 [ ] a) 2

22) G.C.D. of 30, 45 [ ] b) B Ì A

 B

23)    
A

         The relation [ ] c) m
        between A and B

24) Universal set in denoted by [ ] d) O

25) The digit in units place in [ ] f) 
þ
ý
ü

î
í
ì

£Î= 5,,1/ yNy
y

xx

 the product of
 5 ´ 3 ´ 7 ´ 672 ´ 857


